				STOCK U	uotations					
部 Sector	銘柄名 I ssues	売買単位 Trading Unit 株/口	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing Price	売買高 Trading Volume 株/口	売買代金 Trading Value	備考 Remarks
		17क7 ⊔ shs./units	円¥	円¥	円¥	円¥	円¥	かけ shs./units	円¥	
1	40220 [化学 Chemicals] ラサ工業 普通株式 Rasa Industries,Ltd.	1,000	-	-	-	-	252.00	-	-	
2	40330 [化学 Chemicals] 日東エフシー 普通株式 NITTO FC Co., LTD.	1,000	693 <09/10>	693 <09/10>	693 <09/10>	693 <09/10>	693.00	1,000	693,000	
1	40450 [化学 Chemicals] 東亜合成 普通株式 TOAGOSEI CO.,LTD.	1,000	-	-	-	-	282.00	-	-	
1	40620 [電気機器 Electric Appliances] イビデン 普通株式 IBIDEN CO.,LTD.	100	-	-	-	-	1,660.00	-	-	
1	40630 [化学 Chemicals] 信越化学工業 普通株式 Shin-Etsu Chemical Co.,Ltd.	100	3,980 <09/16>	3,980 <09/16>	3,980 <09/16>	3,980 <09/16>	3,980.00	600	2,388,000	
1	40910 [化学 Chemicals] 日本酸素 普通株式 Nippon Sanso Corporation	1,000	-	-	-	-	577.00	-	-	
1	41120 [化学 Chemicals] 保土谷化学工業 普通株式 Hodogaya Chemical Co.,Ltd.	1,000	-	-	-	-	548.00	-	-	
1	41180 [化学 Chemicals] カネカ 普通株式 KANEKA CORPORATION	1,000	-	-	-	-	1,082.00	-	-	
1	41510 [医薬品 Pharmaceutical] 協和発酵工業 普通株式 KYOWA HAKKO KOGYO CO.,LTD.	1,000	-	-	-	-	719.00	-	-	
1	41820 [化学 Chemicals] 三菱瓦斯化学 普通株式 Mitsubishi Gas Chemical Company,Inc.	1,000	-	-	-	-	470.00	-	-	
1	42060 [化学 Chemicals] アイカ工業 普通株式 Aica Kogyo Company,Limited	100	-	-	-	-	1,380.00	-	-	
2	42360 [化学 Chemicals] 未来 普通株式 MIRAI CO.,LTD.	100	790 <09/01>	885 <09/17>	740 <09/30>	799 <09/30>	828.75	136,200	111,888,400	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

				STOCK Q	uotations					
部 Sector	銘柄名 Issues	売買単位 Trading Unit	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
2	43490 [情報・通信業 Information&Communicatio	nn 1								
۷	テスク 普通株式 TISC CO.,LTD.	1,000	329 <09/24>	330 <09/24>	329 <09/24>	330 <09/30>	330.00	5,000	1,649,000	
2	44630 [化学 Chemicals] 日華化学 普通株式 NICCA CHEMICAL CO.,LTD.	1,000	490 <09/01>	490 <09/01>	466 <09/29>	466 <09/29>	482.25	54,000 (1,000)	26,157,000 (456,000)	
1	45010 [医薬品 Pharmaceutical] 三共 普通株式 SANKYO COMPANY,LIMITED	100	-	-	-	-	2,330.00	-	-	
1	45020 [医薬品 Pharmaceutical] 武田薬品工業 普通株式 Takeda Pharmaceutical Company Limited	100	-	-	-	-	5,000.00	-	-	
1	45030 [医薬品 Pharmaceutical] 山之内製薬 普通株式 Yamanouchi Pharmaceutical Co.,Ltd.	100	-	-	-	-	3,560.00	-	-	
1	45060 [医薬品 Pharmaceutical] 大日本製薬 普通株式 Dainippon Pharmaceutical Co.,Ltd.	1,000	-	-	-	-	928.00	-	-	
1	45070 [医薬品 Pharmaceutical] 塩野義製薬 普通株式 Shionogi & Co.,Ltd.	1,000	-	-	-	-	1,579.00	-	-	
1	45110 [医薬品 Pharmaceutical] 藤沢薬品工業 普通株式 FUJISAWA PHARMACEUTICAL COMPANY LIMITED	100	-	-	-	-	2,485.00	-	-	
1	45300 [医薬品 Pharmaceutical] 久光製薬 普通株式 HISAMITSU PHARMACEUTICAL CO.,INC.	1,000	-	-	-	-	1,975.00	-	-	
2	45410 [医薬品 Pharmaceutical] 日本医薬品工業 普通株式 Nichiiko Pharmaceutical Co.,Ltd.	1,000	1,130 <09/24>	1,130 <09/24>	1,130 <09/24>	1,130 <09/24>	1,130.00	2,000	2,260,000	
1	46120 [化学 Chemicals] 日本ペイント 普通株式 NIPPON PAINT CO.,LTD.	1,000	-	-	-	-	405.00	-	-	
1	46130 [化学 Chemicals] 関西ペイント 普通株式 KANSAI PAINT CO.,LTD.	1,000	-	-	-	-	685.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

				STOCK U	uotations					
部 Sector	銘柄名 I ssues	売買単位 Trading Unit	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing Price	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	円¥	株/口 shs./units	円¥	
1	46310 [化学 Chemicals] 大日本インキ化学工業 普通株式 DAINIPPON INK AND CHEMICALS,INCORPORATED	1,000	-	-	-	-	244.00	-	-	
2	46490 [サービス業 Services] 大成 普通株式 TAISEI CO.,LTD.	500	770 <09/01>	865 <09/15>	720 <09/06>	765 <09/30>	788.07	769,500 (711,000)	615,376,000 (568,800,000)	
1	46810 [サービス業 Services] リゾートトラスト 普通株式 RESORTTRUST,INC.	100	-	-	-	-	2,975.00	-	-	
1	47320 [サービス業 Services] ユー・エス・エス 普通株式 USS Co.,Ltd.	10	8,590 <09/09>	8,590 <09/09>	8,590 <09/09>	8,590 <09/09>	8,590.00	200	1,718,000	
1	49010 [化学 Chemicals] 富士写真フイルム 普通株式 Fuji Photo Film Co.,Ltd.	100	-	-	-	-	3,620.00	-	-	
1	49020 [化学 Chemicals] コニカミノルタホールデ・ィンク 普通株式 KONICA MINOLTA HOLDINGS, INC.	500	-	-	-	-	1,507.00	-	-	
2	49900 [化学 Chemicals] 昭和化学工業 普通株式 Showa Chemical Industry Co.,Ltd.	1,000	-	-	-	-	229.00	-	-	
1	50010 [石油·石炭製品 Oil&Coal Products] 新日本石油 普通株式 NIPPON OIL CORPORATION	1,000	-	-	-	-	695.00	-	-	
1	50020 [石油・石炭製品 Oil&Coal Products] 昭和シェル石油 普通株式 SHOWA SHELL SEKIYU K.K.	100	-	-	-	-	978.00	-	-	
1	50070 [石油・石炭製品 Oil&Coal Products] コスモ石油 普通株式 COSMO OIL COMPANY,LIMITED	1,000	-	-	-	-	320.00	-	-	
2	50080 [石油·石炭製品 Oil&Coal Products] 東亜石油 普通株式 TOA OIL COMPANY,LIMITED	1,000	-	-	-	-	184.00	-	-	
1	50160 [石油・石炭製品 Oil&Coal Products] 新日鉱ホールディングス 普通株式 NIPPON MINING HOLDINGS, INC.	500	570 <09/28>	570 <09/28>	552 <09/29>	552 <09/29>	561.00	4,000	2,244,000	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

部 ector		記買単位 rading Unit	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
	s	株/口 hs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
1	51010 [ゴム製品 Rubber Products] 横浜ゴム 普通株式 The Yokohama Rubber Company,Limited	1,000	-	-	-	-	436.00	-	-	
1	51050 [ゴム製品 Rubber Products] 東洋ゴム工業 普通株式 Toyo Tire & Rubber Co.,Ltd.	1,000	-	-	-	-	344.00	-	-	
1	51080 [ゴム製品 Rubber Products] ブリヂストン 普通株式 BRIDGESTONE CORPORATION	1,000	-	-	-	-	2,045.00	-	-	
1	51910 [ゴム製品 Rubber Products] 東海ゴム工業 普通株式 Tokai Rubber Industries,Ltd.	1,000	-	-	-	-	1,403.00	-	-	
1	52040 [ガラス・土石製品 Glass&Ceramics Products 石塚硝子 普通株式 ISHIZUKA GLASS CO.,LTD.	1,000	-	-	-	-	211.00	-	-	
1	53310 [ガラス・土石製品 Glass&Ceramics Products /リタケカンパ゜ニーリミテト・ 普通株式 NORITAKE CO.,LIMITED	1,000	-	-	-	-	430.00	-	-	
1	53320 [ガラス・土石製品 Glass&Ceramics Products 東陶機器 普通株式 TOTO LTD.] 1,000	1,106 <09/07>	1,106 <09/07>	1,106 <09/07>	1,106 <09/07>	1,106.00	1,000	1,106,000	
1	53330 [ガラス・土石製品 Glass&Ceramics Products 日本碍子 普通株式 NGK INSULATORS,LTD.	1,000	-	-	-	-	927.00	-	-	
1	53340 [ガラス・土石製品 Glass&Ceramics Products 日本特殊陶業 普通株式 NGK SPARK PLUG CO.,LTD.] 1,000	-	-	-	-	1,148.00	100,000 (100,000)	111,000,000 (111,000,000)	
2	53420 [ガラス・土石製品 Glass&Ceramics Products ジャニス工業 普通株式 Janis Ltd.	l 1,000	70 <09/01>	75 <09/09>	68 <09/22>	72 <09/30>	71.16	174,000	12,368,000	
2	53430 [ガラス・土石製品 Glass&Ceramics Products ニッコー 普通株式 NIKKO COMPANY	1,000	390 <09/01>	418 <09/13>	390 <09/01>	411 <09/30>	404.22	91,000	36,857,000	
1	53440 [ガラス・土石製品 Glass&Ceramics Products MARUWA 普通株式 MARUWA CO.,LTD.	100	-	-	-	-	1,687.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

				Stock u	uotations					
部 Sector	銘柄名 Issues	売買単位 Trading Unit	始值 <日> Open <date></date>	高值 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
2	53560 [ガラス・土石製品 Glass&Ceramics 美濃窯業 普通株式 MINO CERAMIC CO.,LTD.	Products] 1,000	240 <09/01>	240 <09/01>	240 <09/01>	240 <09/17>	240.00	9,000	2,160,000	
1	53580 [ガラス・土石製品 Glass&Ceramics イソライト工業 普通株式 Isolite Insulating Products Company,	1,000	-	-	-	-	198.00	-	-	
2	53860 [ガラス・土石製品 Glass&Ceramics 鶴弥 普通株式 TSURUYA CO.,LTD.	Products] 500	749 <09/21>	749 <09/21>	749 <09/21>	749 <09/21>	749.00	500	374,500	
2	53970 [金属製品 Metal Products] MIE テクノ 普通株式 MIE TECHNO Company Limited	1,000	67 <09/01>	85 <09/17>	60 <09/06>	74 <09/30>	70.89	281,000	19,945,000	
1	54010 [鉄 鋼 Iron&Steel] 新日本製鐵 普通株式 NIPPON STEEL CORPORATION	1,000	-	-	-	-	262.00	-	-	
1	54050 [鉄 鋼 Iron&Steel] 住友金属工業 普通株式 Sumitomo Metal Industries,Ltd.	1,000	139 <09/07>	139 <09/07>	139 <09/07>	139 <09/07>	139.00	1,000	139,000	
1	54060 [鉄 鋼 Iron&Steel] 神戸製鋼所 普通株式 Kobe Steel,Ltd.	1,000	-	-	-	-	160.00	-	-	
1	54070 [鉄 鋼 Iron&Steel] 日新製鋼 普通株式 Nisshin Steel Co., Ltd.	1,000	233 <09/03>	235 <09/08>	233 <09/03>	235 <09/08>	234.00	2,000	468,000	
1	54110 [鉄 鋼 Iron&Steel] ジェイ エフ イー ホールディングス JFE Holdings, Inc.	. 普 100	-	-	-	-	3,140.00	-	-	
1	54610 [鉄 鋼 Iron&Steel] 中部鋼鈑 普通株式 Chubu Steel Plate Co.,Ltd.	1,000	990 <09/01>	1,099 <09/15>	961 <09/10>	1,010 <09/30>	1,026.85	2,942,000 (7,000)	3,021,280,000 (7,153,000)	
1	54710 [鉄 鋼 Iron&Steel] 大同特殊鋼 普通株式 Daido Steel Co.,Ltd.	1,000	-	-	-	-	286.00	-	-	
1	54820 [鉄 鋼 Iron&Steel] 愛知製鋼 普通株式 AICHI STEEL CORPORATION	1,000	-	-	-	-	572.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

				Stock C	luotations					
部 Sector	銘柄名 Issues	売買単位 Trading Unit 株/口	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing Price	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		杯/口 shs./units	円¥	円¥	円¥	円¥	円¥	株/口 shs./units	円¥	
1	55410 [鉄 鋼 Iron&Steel] 大平洋金属 普通株式 PACIFIC METALS CO.,LTD.	1,000	-	-	-	-	487.00	-	-	
1	56060 [鉄 鋼 Iron&Steel] 旭テック 普通株式 ASAHI TEC CORPORATION	1,000	-	-	-	-	196.00	-	上場廃 -	LE Removal (2004/09/06
2	56070 [鉄 鋼 Iron&Steel] 中央可鍛工業 普通株式 CHUO MALLEABLE IRON CO.,LTD.	1,000	384 <09/01>	406 <09/15>	384 <09/01>	402 <09/24>	394.18	34,000	13,366,000	
1	56310 [機 械 Machinery] 日本製鋼所 普通株式 The Japan Steel Works,Ltd.	1,000	-	-	-	-	153.00	-	-	
1	57010 [非鉄金属 Nonferrous Metals] 日本軽金属 普通株式 Nippon Light Metal Company,Ltd.	1,000	-	-	-	-	246.00	-	-	
1	57060 [非鉄金属 Nonferrous Metals] 三井金属鉱業 普通株式 Mitsui Mining and Smelting Company,Limi	1,000 ited	455 <09/08>	455 <09/08>	455 <09/08>	455 <09/08>	455.00	10,000	4,550,000	
1	57140 [非鉄金属 Nonferrous Metals] 同和鉱業 普通株式 DOWA MINING CO.,LTD.	1,000	-	-	-	-	739.00	-	-	
1	57210 [非鉄金属 Nonferrous Metals] エス・サイエンス 普通株式 S.Science Company,Ltd.	1,000	-	-	-	-	31.00	-	-	
2	57570 [非鉄金属 Nonferrous Metals] サンエツ金属 普通株式 SAN-ETSU METALS Co.,Ltd.	1,000	530 <09/09>	548 <09/15>	500 <09/30>	500 <09/30>	535.33	24,000	12,929,000	
1	58010 [非鉄金属 Nonferrous Metals] 古河電気工業 普通株式 The Furukawa Electric Co.,Ltd.	1,000	-	-	-	-	432.00	-	-	
1	58020 [非鉄金属 Nonferrous Metals] 住友電気工業 普通株式 Sumitomo Electric Industries,Ltd.	1,000	-	-	-	-	978.00	-	-	
2	59180 [金属製品 Metal Products] 瀧上工業 普通株式 The Takigami Steel Construction Co.,Ltd	1,000	-	-	-	-	800.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

Stock (Quotat	ions
---------	--------	------

				O LOOK W	uotations					
部 Sector	銘柄名 Issues	売買単位 Trading Unit	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
1	59380 [金属製品 Metal Products] INAXトステム・ホールディングス 普通株式 Tostem Inax Holding Corporation	1,000	-	-	-	-	2,015.00	-	-	
1	59470 [金属製品 Metal Products] リンナイ 普通株式 RINNAI CORPORATION	100	-	-	-	-	3,360.00	-	-	
2	59790 [金属製品 Metal Products] カネソウ 普通株式 KANESO CO.,LTD.	1,000	525 <09/01>	530 <09/17>	520 <09/17>	520 <09/30>	526.43	30,000 (16,000)	15,855,000 (8,480,000)	
2	59840 [金属製品 Metal Products] 兼房 普通株式 KANEFUSA CORPORATION	500	780 <09/02>	790 <09/21>	760 <09/22>	780 <09/28>	779.23	45,500	35,474,000	
1	59920 [金属製品 Metal Products] 中央発條 普通株式 CHUO SPRING CO.,LTD.	1,000	-	-	-	-	439.00	-	-	
2	59930 [金属製品 Metal Products] 知多鋼業 普通株式 CHITA KOGYO CO.,LTD.	1,000	615 <09/07>	620 <09/28>	615 <09/07>	620 <09/28>	617.50	2,000	1,235,000	
1	61030 [機 械 Machinery] オークマ 普通株式 OKUMA CORPORATION	1,000	364 <09/16>	364 <09/16>	364 <09/16>	364 <09/16>	364.00	7,000	2,548,000	
2	61110 [機 械 Machinery] 旭精機工業 普通株式 ASAHI-SEIKI MANUFACTURING CO.,LTD.	1,000	179 <09/01>	179 <09/01>	161 <09/21>	161 <09/30>	165.64	46,000	7,568,000	
2	61120 [機 械 Machinery] 小島鐵工所 普通株式 Kojima Iron Works	1,000	-	-	-	-	139.00	-	-	
1	61340 [機 械 Machinery] 富士機械製造 普通株式 FUJI MACHINE MFG. CO.,LTD.	100	1,075 <09/01>	1,089 <09/01>	1,010 <09/27>	1,028 <09/30>	1,043.80	811,500 (191,000)	851,654,100 (202,716,000)	
1	61360 [機 械 Machinery] オーエスジー 普通株式 OSG CORPORATION	100	-	-	-	-	1,171.00	-	-	
1	61380 [機 械 Machinery] ダイジヱット工業 普通株式 DIJET INDUSTRIAL CO.,LTD.	1,000	-	-	-	-	185.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

				STOCK Q	uotations					
部 Sector	銘柄名 Issues	売買単位 Trading Unit	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
2	61420 [機 械 Machinery] 富士精工 普通株式 FUJI SEIKO LIMITED	1,000	478 <09/01>	503 <09/09>	470 <09/30>	470 <09/30>	484.40	91,000 (11,000)	43,882,000 (4,928,000)	
1	62010 [輸送用機器 Transportation Equipment] 豊田自動織機 普通株式 TOYOTA INDUSTRIES CORPORATION	100	-	-	-	-	2,505.00	-	-	
1	62030 [機 械 Machinery] 豊和工業 普通株式 Howa Machinery,Ltd.	1,000	-	-	-	-	125.00	-	-	
1	62060 [機 械 Machinery] 豊田工機 普通株式 TOYODA MACHINE WORKS, LTD.	1,000	-	-	-	-	850.00	-	-	
1	62140 [機 械 Machinery] 大隈豊和機械 普通株式 OKUMA & HOWA MACHINERY LTD.	1,000	-	-	-	-	198.00	-	-	
1	62180 [機 械 Machinery] エンシュウ 普通株式 ENSHU Limited	1,000	-	-	-	-	165.00	-	-	
2	62710 [機 械 Machinery] ニッセイ 普通株式 NISSEI CORPORATION	100	-	-	-	-	1,069.00	-	-	
2	62800 [機 械 Machinery] 名機製作所 普通株式 Meiki Co.,Ltd.	1,000	404 <09/01>	404 <09/01>	340 <09/30>	340 <09/30>	372.74	299,000	108,403,000	
1	62930 [機 械 Machinery] 日精樹脂工業 普通株式 NISSEI PLASTIC INDUSTRIAL CO.,LTD.	1,000	-	-	-	-	654.00	-	-	
2	62950 [機 械 Machinery] 富士変速機 普通株式 FUJI HENSOKUKI CO.,LTD.	100	265 <09/01>	279 <09/17>	250 <09/08>	269 <09/30>	266.78	36,200	9,728,600	
1	63010 [機 械 Machinery] 小松製作所 普通株式 KOMATSU LTD.	1,000	-	-	-	-	708.00	-	-	
2	63250 [機 械 Machinery] タカキタ 普通株式 TAKAKITA CO.,LTD.	1,000	-	-	-	-	255.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and Ioan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

				STOCK Q	uotations					
部 Sector	銘柄名 I ssues	売買単位 Trading Unit	始值 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Closing Price 円¥	株/口 shs./units	円¥	
1	63390 [機 械 Machinery] 新東工業 普通株式 Sintokogio,Ltd.	1,000	-	-	-	-	581.00	350,000 (350,000)	199,500,000 (199,500,000)	
1	63400 [機 械 Machinery] 澁谷工業 普通株式 SHIBUYA KOGYO CO.,LTD.	100	-	-	-	-	875.00	-	-	
2	63420 [機 械 Machinery] 太平製作所 普通株式 Taihei Machinery Works,Limited	1,000	125 <09/29>	125 <09/29>	125 <09/29>	125 <09/29>	125.00	1,000	125,000	
1	63450 [機 械 Machinery] アイチ コーポ レーション 普通株式 AICHI CORPORATION	100	-	-	-	-	454.00	-	-	
2	63460 [機 械 Machinery] 菊川鉄工所 普通株式 Kikukawa Iron Works,Inc.	1,000	233 <09/27>	233 <09/27>	233 <09/27>	233 <09/27>	233.00	6,000	1,398,000	
1	63670 [機 械 Machinery] ダイキン工業 普通株式 DAIKIN INDUSTRIES,LTD.	1,000	-	-	-	-	2,665.00	-	-	
1	63710 [機 械 Machinery] 椿本チエイン 普通株式 TSUBAKIMOTO CHAIN CO.	1,000	-	-	-	-	370.00	-	-	
1	63740 [機 械 Machinery] TCM 普通株式 TCM CORPORATION	1,000	-	-	-	-	211.00	-	-	
2	63970 [機 械 Machinery] 郷鉄工所 普通株式 GO Iron Works Co.,Ltd.	1,000	-	-	-	-	104.00	-	-	
1	64070 [機 械 Machinery] シーケーディ 普通株式 CKD Corporation	1,000	-	-	-	-	595.00	30,000 (30,000)	17,850,000 (17,850,000)	
1	64300 [機 械 Machinery] ダイコク電機 普通株式 DAIKOKU DENKI CO.,LTD.	100	-	-	-	-	2,140.00	82,000 (82,000)	174,660,000 (174,660,000)	
2	64390 [機 械 Machinery] 中日本鋳工 普通株式 NAKANIPPON CASTING CO.,LTD.	1,000	80 <09/03>	80 <09/03>	71 <09/15>	74 <09/29>	76.09	68,000	5,193,000	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

Stock	Quotat	ions
-------	--------	------

Stock Quotations										
部 Sector	銘柄名 Issues	売買単位 Trading Unit	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
1	64480 [機 械 Machinery] プラザー工業 普通株式 BROTHER INDUSTRIES,LTD.	1,000	-	-	-	-	915.00	-	-	
1	64610 [機 械 Machinery] 日本ピストンリング 普通株式 Nippon Piston Ring Co.,Ltd.	1,000	-	-	-	-	213.00	-	-	
1	64700 [機 械 Machinery] 大豊工業 普通株式 TAIHO KOGYO CO.,LTD.	100	1,035 <09/01>	1,035 <09/01>	1,035 <09/01>	1,035 <09/01>	1,035.00	100	103,500	
1	64710 [機 械 Machinery] 日本精工 普通株式 NSK Ltd.	1,000	-	-	-	-	473.00	-	-	
1	64730 [機 械 Machinery] 光洋精工 普通株式 KOYO SEIKO CO., LTD.	1,000	-	-	-	-	1,235.00	-	-	
1	64790 [電気機器 Electric Appliances] ミネベア 普通株式 MINEBEA CO.,LTD.	1,000	-	-	-	-	450.00	-	-	
2	64990 [機 械 Machinery] 大隈エンジニアリング 普通株式 OKUMA ENGINEERING CO.,LTD.	1,000	215 <09/01>	226 <09/07>	215 <09/01>	220 <09/24>	221.38	20,000	4,403,000	
1	65010 [電気機器 Electric Appliances] 日立製作所 普通株式 Hitachi,Ltd.	1,000	-	-	-	-	666.00	-	-	
1	65020 [電気機器 Electric Appliances] 東芝 普通株式 TOSHIBA CORPORATION	1,000	-	-	-	-	405.00	2,000 (2,000)	810,000 (810,000)	
1	65040 [電気機器 Electric Appliances] 富士電機ホールディングス 普通株式 FUJI ELECTRIC HOLDINGS CO.,LTD.	1,000	-	-	-	-	273.00	-	-	
1	65080 [電気機器 Electric Appliances] 明電舎 普通株式 MEIDENSHA CORPORATION	1,000	-	-	-	-	200.00	-	-	
1	65860 [機 械 Machinery] マキタ 普通株式 Makita Corporation	1,000	-	-	-	-	1,556.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

Stock Quotations										
部 Sector	銘柄名 Issues	売買単位 Trading Unit	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
1	66210 [電気機器 Electric Appliances] 高岳製作所 普通株式 Takaoka Electric Mfg.Co.,Ltd.	1,000	-	-	-	-	149.00	-	-	
1	66230 [電気機器 Electric Appliances] 愛知電機 普通株式 AICHI ELECTRIC CO.,LTD.	1,000	160 <09/01>	165 <09/30>	150 <09/16>	165 <09/30>	153.91	97,000 (1,000)	14,997,000 (155,000)	
1	66450 [電気機器 Electric Appliances] オムロン 普通株式 OMRON CORPORATION	100	-	-	-	-	2,425.00	-	-	
2	66460 [電気機器 Electric Appliances] エナジーサポート 普通株式 ENERGY SUPPORT CORPORATION	1,000	-	-	-	-	853.00	-	-	
1	66510 [電気機器 Electric Appliances] 日東工業 普通株式 NITTO ELECTRIC WORKS,LTD.	100	-	-	-	-	881.00	-	-	
2	66550 [電気機器 Electric Appliances] 東洋電機 普通株式 TOYO ELECTRIC CORPORATION	1,000	305 <09/01>	305 <09/01>	301 <09/28>	301 <09/28>	304.43	21,000	6,401,000	
1	66760 [電気機器 Electric Appliances] メルコホールディングス 普通株式 MELCO HOLDINGS INC.	100	-	-	-	-	1,894.00	-	-	
1	67010 [電気機器 Electric Appliances] 日本電気 普通株式 NEC Corporation	1,000	-	-	-	-	659.00	4,000 (4,000)	2,812,000 (2,812,000)	
1	67020 [電気機器 Electric Appliances] 富士通 普通株式 FUJITSU LIMITED	1,000	-	-	-	-	637.00	7,000 (7,000)	4,739,000 (4,739,000)	
1	67180 [電気機器 Electric Appliances] アイホン 普通株式 AIPHONE CO.,LTD.	100	-	-	-	-	1,920.00	-	-	
1	67490 [電気機器 Electric Appliances] マスプロ電工 普通株式 MASPRO DENKOH CORP.	100	-	-	-	-	1,180.00	-	-	
1	67520 [電気機器 Electric Appliances] 松下電器産業 普通株式 Matsushita Electric Industrial Co.,Ltd.	1,000	-	-	-	-	1,471.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

Cai	/ WOTTT . 2004/03			Stock Q	uotations					
部 Sector	銘柄名 Issues	売買単位 Trading Unit	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing Price	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	円¥	株/口 shs./units	円¥	
1	67530 [電気機器 Electric Appliances] シャープ 普通株式 Sharp Corporation	1,000	-	-	-	-	1,516.00	-	-	
1	67550 [電気機器 Electric Appliances] 富士通ゼネラル 普通株式 FUJITSU GENERAL LIMITED	1,000	-	-	-	-	378.00	-	-	
1	67580 [電気機器 Electric Appliances] ソニー 普通株式 SONY CORPORATION	100	-	-	-	-	3,840.00	5,000 (5,000)	上場廃 19,000,000 (19,000,000)	止 Removal (2004/09/06)
1	67640 [電気機器 Electric Appliances] 三洋電機 普通株式 SANYO ELECTRIC CO.,LTD.	1,000	-	-	-	-	357.00	-	-	
2	67970 [電気機器 Electric Appliances] 名古屋電機工業 普通株式 NAGOYA ELECTRIC WORKS CO.,LTD.	1,000	961 <09/01>	980 <09/02>	958 <09/30>	980 <09/30>	974.75	22,000	21,299,000	
2	68460 [電気機器 Electric Appliances] 中央製作所 普通株式 Chuo Seisakusho,Ltd.	1,000	170 <09/02>	190 <09/09>	154 <09/17>	180 <09/28>	177.17	43,000	7,540,000	
1	68600 [電気機器 Electric Appliances] SUNX 普通株式 SUNX Limited	100	2,080 <09/07>	2,080 <09/07>	2,080 <09/07>	2,080 <09/07>	2,080.00	2,900 (2,800)	4,926,000 (4,718,000)	
2	68960 [電気機器 Electric Appliances] 北川工業 普通株式 KITAGAWA INDUSTRIES CO.,LTD.	100	1,600 <09/01>	1,730 <09/13>	1,590 <09/02>	1,725 <09/30>	1,665.40	189,200	313,661,800	
2	68990 [電気機器 Electric Appliances] ASTI 普通株式 ASTI CORPORATION	1,000	-	-	-	-	900.00	-	-	
1	69020 [輸送用機器 Transportation Equipment] デンソー 普通株式 DENSO CORPORATION	100	-	-	-	-	2,605.00	-	-	
2	69480 [電気機器 Electric Appliances] 住友電装 普通株式 SUMITOMO WIRING SYSTEMS,LTD.	1,000	2,105 <09/01>	2,105 <09/01>	1,960 <09/29>	1,960 <09/29>	2,024.17	146,000	297,430,000	

松下電工

69910 [電気機器 Electric Appliances]

Matsushita Electric Works, Ltd.

普通株式

1,000

871.00

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and Ioan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.

Stock	Quota	tions
-------	-------	-------

部 Sector	銘柄名 Issues	売買単位 Trading Unit	始値 <日> Open <date></date>	高値 <日> High <date></date>	安値 <日> Low <date></date>	終値 <日> Close <date></date>	終値平均 Average Closing	売買高 Trading Volume	売買代金 Trading Value	備考 Remarks
		株/口 shs./units	円¥	円¥	円¥	円¥	Price 円¥	株/口 shs./units	円¥	
1	69950 [輸送用機器 Transportation Equipment] 東海理化電機製作所 普通株式 TOKAI RIKA CO.,LTD.	1,000	-	-	-	-	1,855.00	-	-	
1	69960 [電気機器 Electric Appliances] ニチコン 普通株式 NICHICON CORPORATION	100	-	-	-	-	1,219.00	-	-	
1	69990 [電気機器 Electric Appliances] KOA 普通株式 KOA CORPORATION	100	-	-	-	-	827.00	-	-	

⁽注) 1. : 制度信用銘柄 2. : 制度信用銘柄及び貸借銘柄 3. () : うち立会外分 4. 終値平均は日々の終値合計を値付日数で除して算出。 ただし、売買取引のなかった銘柄は最終気配値段を表示。

⁽Notes)
1. : Issues eligible for Standardized margin transactions.
2. : Issues eligible for Standardized margin transactions and loan transactions.
3. () : Of which are off-hour transactions.
4. Figures of closing price average are computed by dividing the total of each closing prices on the regular transaction with the number of days traded. However, in case there is no transaction during the month, figures are the last offer prices.